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Use a linear approximation (tangent-line approximation) to approximate £ a., ( ’.2.9")
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Finishing up 2.9

What's an error in measurement do to the error in the calculation? We have a way to estimate that,
using differentials.

The measurement of the radius of a sphere is 10 cm +/- 0.2 cm

Use differentials to approximate the error in the calculation of the volume.
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Verify the given linear approximation at a = 0. Then determine the values of x for which the linear approximation is
accurate to within 0.1. (Enter your answer using interval notation. Round your answers to three decimal places.)
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Looks tough to do, analytically, but Deesmos has an answer.

Graph f(x) and y = 0.1 and y = - 0.1. Find where they intersect.
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